1. A golf course in California has determined that the mean time it takes for a foursome to complete an 18 hole round of golf is 4 hours 35 minutes (275 minutes) with a standard deviation of 14 minutes.  The time distribution is also thought to be approximately normal. Every month, the head pro at the course randomly selects a sample of 8 foursomes and monitors the time it takes them to play.  Suppose the mean time that was observed for the sample last month was 4 hours 44 minutes (284 minutes).  What is the probability of seeing a sample mean this high or higher?   (Normal)
 2. The J.R. Simplot Company produces frozen French fries that are then sold to customers such as McDonald’s.  The “prime” line of fries has an average length of 6.00 inches with a standard deviation of 0.50 inches.  To make sure that Simplot continues to meet the quality standard for “prime” fries, they plan to select a random sample of n = 100 fries each day.   Yesterday, the sample mean was 6.05 inches.  What is the probability that the mean would be 6.05 inches or more if they are meeting the quality standards?  (CLT)   
3. The number of defects discovered in a random sample of 100 products produced at the Berdan Manufacturing Company is binomially distributed with p = .03.  Based on this, find the expected number of defects per sample. (Binomial, expected value)
4. An electronics repair shop has determined that the time between failures for a particular electronic component part is exponentially distributed with a mean time between failures of 200 hours.  Based on this information, what is the probability that a part will fail in the first 20 hours? is approximately 0.095.   

( exponential distribution)
5. An automobile service center can take care of 7 cars per hour.  If cars arrive at the center randomly and independently at a rate of 5 per hour on average, what is the probability of the service center being totally empty in a given hour?  
(Poisson)
6. Many people believe that they can tell the difference between Coke and Pepsi.  Other people say that the two brands can’t be distinguished. To test this, a random sample of 20 adults was selected to participate in a test.  After being blindfolded, each person was given a small taste of either Coke or Pepsi and asked to indicate which brand soft drink it was.  If people really can’t tell the difference, find the probability that fewer than 3 people will guess correctly.    



( binomial)
7. A company has twenty cars that are available for use by company executives for official business purposes.  Six of these cars are SUVs, eight are luxury type cars, and the rest are basic sedans.  Suppose the cars are randomly assigned each week.  If five cars are put into use, what is the chance that none of the SUVs or luxury cars will be in the group?
( hypergeometric)
